Wy - Wyrzutowy

Nazwa: C
Typ: Czerpny
Opis:
Sys. [ Nrf Szt. Nazwa Wymiary Material | Pow. [m2]| Pow. catk. [m2]] Producent | Uwagi
c | 1| 1| [Frosokama 500 b= 400 stal Ogdlne
wyrzutnia §cienna
clz2]1 Przewdd a= 200[ b= 400 [ 1= 750 ocynk | 0,90 0,90 Ogolne
prostokatny
Asymetryczne
C3]1 przejscie a= 200] b= 400 [ d= 200 40 |1= 200fe= -100(f ocynk 0,27 0,27 Ogolne
koto/prostokat
C [ 4] 1 | Przewodd okragly [ d1 = 200[11 = 925 ocynk 0,58 0,58 Ogdlne
cls|3 Kolano =1y~ 90 [ 1= 1 [d1= 200 ocynk | 0,30 3,85 Ogolne
segmentowe
C | 6| 1 [ Przewdd okraglty | d1 = 20011 = 3000 ocynk 1,88 1,88 Ogolne
C | 7| 7 | Ztaczka mufowa | d1 = 200 ocynk 0,06 0,42 Ogdlne
C | 8| 1 [ Przewdd okragly | d1 = 20011 = 2755 ocynk 1,73 1,73 Ogolne
C [ 9] 1 | Przewdd okragly [ dl1 = 200|11= 254 ocynk 0,16 0,16 Ogdlne
C | 10| 1 [ Przewdd okraglty | d1 = 200[11= 750 ocynk 0,47 0,47 Ogolne
C |11] 1 | Przewod okragly | d1= 200|11= 500 ocynk 0,31 0,31 Ogolne
C | 12| 1 [ Przewdd okraglty | d1 = 20011 = 2000 ocynk 1,26 1,26 Ogolne
C |13] 1 | Przewod okragly | d1= 20011 = 830 ocynk 0,52 0,52 Ogolne
C | 14| 1 [ Przewdd okraglty | d1 = 20011 = 6000 ocynk 3,77 3,77 Ogolne
C | 15] 1 | Odsadzka okragla | d1= 200| e= 200 |11 = 450 ocynk 0,46 0,46 Ogolne
c [16] 1 Redukeja 4, _ 55| a2 = 200 [11= 100 ocynk | 0,18 0,18 Ogolne
asymetryczna
c |17 1 | Okmaelylkebeiee |5 o50l 1= 150 ocynk Ogolne
elastyczny
1 | Ztaczka nyplowa | d1 = 200 ocynk 0,05 0,05 Ogdlne
Nazwa: N
Typ: Nawiewny
Opis:
Sys. [ Nrf Szt. Nazwa Wymiary Material | Pow. [m2]] Pow. calk. [m2]| Producent | Uwagi
N | 1| o | Okraetykeociee |y g0t o s ocynk Ogélne
elastyczny
N|2f1 Kolano ey — 90 [ 1= 1 |d1= 250 ocynk | 0,46 0.46 Ogolne
segmentowe
N | 3| 3 | Ztaczka mufowa | dl = 250 ocynk 0,11 0,32 Ogolne
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Asymetryczne
N|4] 2 przejscie a= 420 b= 460 [ d= 250 g= 60 |1= 200fe= ocynk 0,51 1,02 Ogolne
koto/prostokat
N [s| 1| Chledmiea o aag| b= 460 [ 1= 130 Ogolne
prostokatna
N|6]|1 T{“m;irz:}l;lowy d= 250| 1= 600 ocynk Ogolne
Tréjnik
N |7 1 | asymetryczny 90 | d1= 250|d3= 125 [11= 170 ocynk 0,32 0,32 Ogodlne
stopni
N|[8]1 Redukeja | 4y 550{d2= 200 | 11= 100 ocynk | 0,18 0,18 Ogdlne
asymetryczna
N|of1 Kolano =1~ 90 [ 1= 1 [d1= 200 ocynk | 0,30 0,30 Ogolne
segmentowe
N | 10| 1 | Przewdd okragly | d1 = 20011 = 3000 ocynk 1,88 1,88 Ogolne
Trojnik
N | 11| 1 | asymetryczny 90 | d1= 200|d3= 100 [11= 170 ocynk 0,22 0,22 Ogodlne
stopni
N | 12| 1 | Przewdd okragly | d1 = 20011 = 2000 ocynk 1,26 1,26 Ogolne
Trojnik
N3] 1| MY = 200|d2= 160 |d3= 125 ocynk | 0,24 0,24 Ogolne
redukcyjny 90
stopni
N | 14| 1 | Przewod okragly | d1= 160]11= 2500 ocynk 1,26 1,26 Ogolne
Trojnik
N |15] 1 | asymetryczny 90 | d1= 160|d3= 100 [11= 170 ocynk 0,18 0,18 Ogolne
stopni
N [16] 1 | Przewod okragly | d1 = 160[11 = 987 ocynk 0,50 0,50 Ogdlne
N |17] 8 Kolano iy = 90 [ 1= 1 [d1= 160 ocynk | 0,19 1,52 Ogolne
segmentowe
N | 18| 1 | Przewdd okragly | d1= 160[11 = 1789 ocynk 0,90 0,90 Ogolne
N [19| 2 | Przewod okragly | d1 = 160[11 = 195 ocynk 0,10 0,20 Ogdlne
N |20| 1 | Przewdd okragly | d1= 160[11= 170 ocynk 0,09 0,09 Ogolne
N [21| 1 | Przewod okragly | d1 = 160[11 = 1785 ocynk 0,90 0,90 Ogdlne
N |22| 1 | Przewdd okragly | d1= 160[11 = 580 ocynk 0,29 0,29 Ogolne
N [23| 1 | Przewod okragly [ d1 = 160[11 = 3500 ocynk 1,76 1,76 Ogdlne
N |24| 1 | Ztaczka mufowa | d1 = 160 ocynk 0,05 0,05 Ogolne
Trojnik
N [25| 1| SYmewesY | g _ ye0|d2= 160 [d3= 160 ocynk 0,25 0,25 Ogolne
redukcyjny 90
stopni
N [26] 1 | Przewod okragly [ d1 = 160[11 = 1500 ocynk 0,75 0,75 Ogdlne
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N [27] 1 Przewod d= 160[ 1= 1186 aluminium| 0,26 0,60 Ogolne
elastyczny
N 28] 2 Zawor D= 160 stal Ogolne
wentylacyjny
N |29| 1 | Przewdd okragly | d1= 100[11 = 500 ocynk 0,16 0,16 Ogolne
Przepustnica B B ,
N |30 2 okragla = 100] 1 100 ocynk Ogolne
N [31| 2 | Ztaczka mufowa [ d1 = 100 ocynk 0,03 0,06 Ogdlne
N [32] 2 Redukeja | 4 100|d2= 125 |11 60 ocynk | 0,05 0,11 Ogdlne
symetryczna
N [33] 1 Przewod d= 125[ 1= 2884 aluminium| 0,32 1,13 Ogolne
elastyczny
N |34] 2 Zawor D= 125 stal Ogolne
wentylacyjny
Nawiewnik
wirowy
N |35 1 prostokatny ze L= 250|H= 250 | D= 125|BD= 300 stal Ogodlne
skrzynka
rozprezng
N [36] 1 | Przewod okragly [ d1 = 100{11 = 1000 ocynk 0,31 0,31 Ogdlne
N |37| 1 | Ztaczka mufowa | d1 = 125 ocynk 0,04 0,04 Ogolne
Przepustnica B B ,
N [38] 1 okragla = 125] 1 125 ocynk Ogolne
N [39| 1 | Przewod okragly [ d1 = 125[11 = 1500 ocynk 0,59 0,59 Ogdlne
N 40 1 Kolano =iy~ 90 [ 1= 1 [d1= 125 ocynk | 0,12 0,12 Ogolne
segmentowe
N |41| 1 | Przewdd okragly | d1 = 125[11 = 1000 ocynk 0,39 0,39 Ogolne
Nawiewnik
wirowy
N [42] 1 prostokatny ze L= 250|H= 250 | D= 125|BD= 300 va Ogolne
skrzynka
rozprezng
N 1 | Ztaczka nyplowa [ d1 = 160 ocynk 0,04 0,04 Ogolne
N 1 | Ztaczka nyplowa | d1 = 125 ocynk 0,03 0,03 Ogolne
Nazwa: W
Typ: Wywiewny
Opis:
|Sys.|Nr|Szt.| Nazwa | Wymiary | Materiat |P0w. [m2]|P0w. catk. [m2]| ProducentlUwagiI
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Anemostat
w 1] 2| Prosokamyze | o0l p— 200 [ D= 125/BD= 300 stal Ogolne
skrzynka
rozprezng
wl2|1 Przewod d= 125[ 1= 2013 aluminium| 0,50 0,79 Ogolne
elastyczny
W | 3] 2 | Przewod okragly | d1 = 125]11 = 750 ocynk 0,29 0,59 Ogolne
Trojnik
symetryczny _ _ .
Wi(4]1 redukeyjny 90 dl= 160]|d2= 125 |d3= 125 ocynk 0,20 0,20 Ogolne
stopni
W | 5| 2 | Przewdd okragly | d1= 16011 =250 ocynk 0,13 0,25 Ogdlne
wle6|1 Kolano = iy~ 90 [ 1= 1 [d1= 160 ocynk | 0,19 0,19 Ogolne
segmentowe
W | 7] 1 | Ztaczka mufowa | d1 = 160 ocynk 0,05 0,05 Ogolne
Trojnik
wls| [ SYmemwemy dgi— a00{d2= 160 [d3= 160 ocynk | 0,30 0,30 Ogolne
redukcyjny 90
stopni
W 9| 1 | Przewod okragly | d1 = 20011 = 1250 ocynk 0,79 0,79 Ogdlne
W [10] 5 Kolano =1y~ 90 [ 1= 1 |d1= 200 ocynk | 0,30 1,48 Ogolne
segmentowe
W [11]| 4 | Ztaczka mufowa | d1 = 200 ocynk 0,06 0,24 Ogolne
W 12| 1 | Przewod okragly | d1 = 200| 11 = 2875 ocynk 1,81 1,81 Ogdlne
Trojnik
w13[ 2 | MY 1= 200[d2= 200 [d3= 100 ocynk | 0,20 0.41 Ogolne
redukcyjny 90
stopni
W [14] 1 | Przewod okragly | d1= 200| 11 = 250 ocynk 0,16 0,16 Ogolne
W | 15| 1 | Przewod okragly | d1 = 20011 = 6000 ocynk 3,77 3,77 Ogdlne
W [16] 1 | Przewod okraglty | d1 = 200| 11 = 500 ocynk 0,31 0,31 Ogolne
W | 17| 1 | Przewod okragly | d1 = 20011 = 1646 ocynk 1,03 1,03 Ogdlne
W [ 18] 1 | Odsadzka okragla | d1 = 200| e= 200 [11= 400 ocynk 0,43 0,43 Ogolne
Trojnik
wlto| 1| SYmememY g — as0ld2= 200 [d3= 125 ocynk | 033 0,33 Ogolne
redukcyjny 90
stopni
W 20| 2 | Ztaczka mufowa | d1 = 250 ocynk 0,11 0,21 Ogdlne
21 1 Kolano =1y = 90 [ 1= 1 [d1= 250 ocynk | 0,46 0,46 Ogolne
segmentowe
2y | Tomikkanalowy |5 5501 1= 600 ocynk Ogolne
okragly
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Okragty krociec

W 23] 1 d= 250 I= 150 ocynk Ogodlne
elastyczny
W [24] 1 | Ztaczka mufowa | d1 = 100 ocynk 0,03 0,03 Ogolne
Przepustnica B B ,
W |25 2 okragla = 100] 1 100 ocynk Ogolne
W 26| 1 | Przewod okragly | d1= 10011 =500 ocynk 0,16 0,16 Ogdlne
w (27| 1 Przewod d= 100[ 1= 1464 aluminium| 0,25 0,46 Ogolne
elastyczny
w |28] 2 Zawor D= 100 stal Ogolne
wentylacyjny
W [29] 1 | Przewod okragly | d1= 100] 11 = 250 ocynk 0,08 0,08 Ogolne
Przepustnica B B ,
w30 1 okragla d= 160| 1 160 ocynk Ogolne
w[31] 1 Preewod d= 160[ 1= 1967 aluminium| 0,35 0,99 Ogolne
clastyczny
w [32] 2 Zawor D= 160 stal Ogolne
wentylacyjny
W |33| 1 | Ztaczka mufowa | d1 = 125 ocynk 0,04 0,04 Ogdlne
w[3a| 1| Preepustmiea g pst= s ocynk Ogdlne
okragta
W [35] 1 | Przewdd okragly | d1 = 125[11= 1500 ocynk 0,59 0,59 Ogolne
W [36] 1 Redukeja 1 4, — po5|a2= 160 [11= 80 ocynk | 0,08 0,08 Ogolne
Symetryczna
N 1 | Ztaczka nyplowa | dl 200 ocynk 0,05 0,05 Ogdlne
w 2 | Ztaczkanyplowa [ d1 = 125 ocynk 0,03 0,06 Ogolne
W 1 | Ztaczka nyplowa | dl 100 ocynk 0,03 0,03 Ogolne
Nazwa: Wy
Typ: Wyrzutowy
Opis:
Sys. [ Nrf Szt. Nazwa Wymiary Material | Pow. [m2]| Pow. catk. [m2]] Producent | Uwagi
wy| 1| 1 | Okragykréeiee | g o0t 2 50 ocynk Ogélne
elastyczny
Asymetryczne
Wyl2] 1 przejscie a= 200l b= 200 (|d= 250 g= 60 |l= 125|e= 25 |f= 25 ocynk 0,10 0,10 Ogolne
koto/prostokat
Wy| 3| 1 |Lukasymetryczny|alfa= 90 | a= 200 [ b= 200f d= 200fe= 50 |f= 50 |r= 100| ocynk 0,46 0,46 Ogolne
Wyl 4] 1 Przewdd a= 200[ b= 200 [ 1= 710 ocynk | 0,57 0,57 Ogolne
prostokatny
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